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PLUS  IN  MINUS  

BRINA     [image: Candy Corn Clip Art Black And White | Clipart Panda - Free Clipart ...]   [image: Candy Corn Clip Art Black And White | Clipart Panda - Free Clipart ...]  [image: Candy Corn Clip Art Black And White | Clipart Panda - Free Clipart ...] [image: Candy Corn Clip Art Black And White | Clipart Panda - Free Clipart ...]                        

ANA     [image: Halloween Candy Of Rectangular Striped Hand Drawn Shape - Candy ...][image: Halloween Candy Of Rectangular Striped Hand Drawn Shape - Candy ...][image: Halloween Candy Of Rectangular Striped Hand Drawn Shape - Candy ...]

ČE  ANA   DA  BRINI    3 [image: https://banner.uclipart.com/20200112/vov/candy-black-and-white-leaf.png]  IMA BRINA  7 [image: https://banner.uclipart.com/20200112/vov/candy-black-and-white-leaf.png].      
4 +  3  =  7  

A BRINA TEH    [image: https://banner.uclipart.com/20200112/vov/candy-black-and-white-leaf.png]  NE MARA.  ZATO JIH VRNE ANI. 
7 -   3   =   4  

NIK  IN  NIKA   PRIDETA            NIK IN NIKA  GRESTA      
[image: Clip Art Vector - Kids walk to school. vector black and white ...]                 [image: Kindergarten School Building Clipart Black And White]                    [image: Clip Art Vector - Kids walk to school. vector black and white ...]                
                        5  + 2  =     7                   7 -   2 =   5
NARIŠI  SLIKO:
5  +   3   =   8                                   8 -   3  =  5 
REŠI  V DZ  ŠE STRAN  68.  
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